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Some people confuse plurality with majority. Give an example where Ovid’s wins the plu-
rality rule, but Ovid’s does not have a majority: - ‘ Can |+, uSe \']\u S(}“
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Some people confuse two elimination methods: plurality with elimination (least first place
is eliminated) and survivor {most last place votes is eliminated). Construct a preference
schedule where the two methods give different answers. '
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Bracket methods

A bracket is a way to organize who goes head-to-head with who. A candidate is eliminated
after any loss. The survivors are then paired up. The pairings are decided before any of the
head-to-heads, so “the winner of this game will play the winner of that game” is ok, but “A
won and B won, so let’s have them play against each other” is NOT ok.

Here is a bracket for four candidates:
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Who wins if this is the preference schedule? Fill in the bracket. md| K K Su
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Can you make K-Lair win by changing the original bracket {(not the preference schedule)?

Uelar Beats  Shilude and0us ¢ 0 b Sty

Lot loges to Sukwey S:'l’h; 4 g""““"‘“‘"ksﬁg A ﬁ?cf
L os e {o ﬁa bucks, so po Ouide _ ) T

Koy
Fherm fegetoc? SN e T

Draw a bracket for three candiadates. Who wins if this is the prefe:ence schedule? '

5

53 c

513 sd | C
b;

| A Qs B

I (5

a’ Hed 5!{

. 5
Which candidates can win a bracket method? Am @
413 q
¢ — B -»] Al

A r\y L;)@'t}y i

Sﬁ“' A%



